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Calculus Practice: Techniques for Finding Antiderivatives 10b

Evaluate each indefinite integral. Use the provided substitution.

1 fScscz (—4 +In —3X) f3csc2 (5 +In —3X)

dx; u=-4+1In -3x 2) dx; u=5+1n -3x
X

2esc? (5 + In 3x 2sin (4 + In —x
3) f— SSHCRALE VPSR 4)[ sin(é 40X gy gy
X X
2(-1+1In4 t\S+1
, fsec Cleimad oo 6 fmdx; U=5+1n 5x
X X
tan (4 + In 2x Stan (3 + In X
7 j‘_ an (4 +In )dx; U=4 + In 2x ) f_de; u=3+1In x
X X

9) f3csc (—5 +In 2X)

4 1
dx; u=-5+1n 2x 10) f— Sec(5+n3x)dx;u=5+ln3x
X X
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1
11) f—
Xcsc (—1 + In 4X

)dx; u=-1+In 4x

in (1 +In 5X
13)[ sin (1 + In 5x) dx; u=1+1In 5x

xcos? (1 +In SX)

15) f_ 4cos (=3 + In x)

dx; u=-3+1n X
Xsin? (—3 +In X)

2sin (5 + In —5x
17) f— sin (5 + In )dx; U=5+1In —5x

Xcos (5 + In —SX)

4
19) |-
) f Xsin (3 +In —3X)

dx; u=3+1n -3x
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Ssin (=3 + In —4x
12) f— sin (-3 + In )dx;u=—3+ln—4x

Xcos? (—3 +In —4X)

5 +1n 4x
14) f cos (5 + In 4x) dx; U=>5+1In 4x

Xsin? (5 +In 4X)

16) f4cos (4 +In —2x)

- dx; u=4+1In -2x
Xsin (4 +In —2X)

1
18
) ,[ Xsin (—3 + In —X)

dx; u=-3+1n —Xx

4 2+1In -
20) f— COS( n X)dx; u=2+In-x

Xsin (2 +In —X)

-
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Evaluate each indefinite integral. Use the provided substitution.
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4 1
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11) f—
Xcse (—1 + In 4X

)dx; u=-1+In 4x
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15) f_ 4cos (=3 + In x) dy.
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2sin (5 + In —5x
17) f— sin (5 + In )dx; U=5+1In —5x

Xcos (5 + In —SX)

—2In ‘sec (5 + In —SX)‘ +C

4
19) |-
) f Xsin (3 +In -3 X)

dx; u=3+1n -3x

Ssin (=3 + In —4x
12) f— sin (-3 + In )dx;u=—3+ln—4x

Xcos? (—3 +In —4X)
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5 +1n 4x
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Xsin? (5 +In 4X)

—CsC (5 +In 4x) +C

4cos (4 + In —2
16 fcos( ~n X)dx;u=4+ln—2x

Xsin (4 +In —2X)

41n ‘sin (4+ln —2X)| +C

18)[ - 1 dx; u=-3+1n —x
Xsin (—3 + In —X)

In ‘csc (—3 +In —X) — cot (—3 + In —x)‘ +C

20) f_ 4cos (2 + In —X)

- dx; u=2+1In-x
Xsin (2 +In —X)
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